Efficiency vs hit

0.2

J2) F
= F
»n0.18
> E
30.16F -
c o
(] E
50.14F
5 E
0.12F
0.1
0.08F
0.06F
0.04F---%----5---
0.02F b or e
3 . ?e { i}
o Luof L I o)
el |
0%—10 20 30 40 50 60 70 80
TP hits
—=— DQM_V0001_R000000001__Global__1
—— DQM_V0001_R000000001__Global__|
—— DQM_V0001_R000000001__Global__i
| Efficienc] —— DQM_V0001_R000000001__Global__ i

20 25
TP layers

Efficiency vs pixel layer

00.02p
[
®.018
$.016F
o
©.014

6 7 8
TP pixel layers

T[T [T T [ T[T [T T T

i

6

8 10 12 14 16 18 20
TP 3D layers

mkFit_lkstable
mkFit_CAND1kstable
mkFit_lkswitch
mkFit_CAND1kswitch




	Contents
	Page 1


